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The circular wire of radius 7 cm is cut and bend again into an arc of a circle of radius 12 cm. The
angle subtended by an arc at the centre of the circle is

(a) 50°

W 210°

(c) 100° (d) 607

qCm™m = L

[Kerala (Engg.) 2002]
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The degree measure corresponding to the given radian [g}

(a) 21° (b) 22° () 23° (&) 24°

The minute hand of a clock is 10 cm long. How far does the tip of the hand move in 20 minutes

107 207 307 407
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The angle subtended at the centre of radius 3 metres by the arc of length 1 metre is equal to
[UPSEAT 1973]

(a) 20° (b) 60° \/06{1/3 radian (d) 3 radian
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@) If sin@ +cosecd =2, then sin® @ + cosec 20 =

(a) 1 (b) 4

Sin2A = 3SinmA — HSIN"A

[UPSEAT 2002; MP PET 1992; MNR 1990]
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(a) 110 (b) 101 (c) 80

1 A
\/If sin x + cos _t:g, then tan 2x is

25 7
(a) = (b) =

I 2sina = y, then {l —cos & + singx} i
{1+ cos e+ sina} T+sme

(a) :- o

(c)1-y

(194

(d) None of these
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The value of # lying between 0 and #/2 and satisfying the equation

sin2@  1+cos2@ 4sindf =6 R,
sin? @ cos>@ 1+4sind R,
[IIT 1988; MNR 1992; Kurukshetra CEE 1998; DCE 1996]
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